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CE308 Rolk Mo 5 cisismmnnsveniis

Spl. 2020
ENVIRONMENTAL ENGINEERING

Frifa oo A=) (SATtrehaT 37 : 70
Time allowed : Three Hours]| [Maximum Marks : 70
Az () U IE AHTE B, I 7 T ] aR F I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i)  FeA% 59 F G4 Y71 ) FHAR T GrY & FHiford |
Solve all parts of a question consecutively together.
(iii) 5ed% 594 F1 73 98 & I Fiford |
Start each question on fresh page.
(iv) T STSTST A IR E17 1 1T 3 3 S & A8 |

Only English version is valid in case of difference in both the languages.

1. (1) fava gatag feas wamn smar 2 -

(a) 1S (b) 6 H
(c) S (d) 5 30TEd I
World environment day is celebrated —
(a) on 1% July (b) on 6™ June
(c) on 5™ June (d) on 5™ August
(2) Tt e & fopad Frm B -
(@ @ (b) =T (c) o= (d) U=
How many laws of energy flow are there ?
(a) two (b) four (c) three (d) five
(3) @i fowE -
(a) aEiHEHR | (b) HeI I AR |
(c) gt Tt 2 | (d) vt ot

Degradation of forests causes —
(a) decrease in rain (b) soil erosion
(c) temperature increase of earth (d) All of above
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FanT YRS SRR -

(@) ST (b) TETHE

(c) aRgwgm (d) 3 &f
Industrial waste causes —

(a) Water pollution (b)  Soil pollution
(¢) Air pollution (d) All of above
Y WGV 1 A Bld & —

(a) HQT A (b) @& T

(c) 3irenfires fmfor (d) 3ot oY

Human source of air pollution is —
(a) Soil erosion (b) Burning
(¢) Industrial constructions (d) All of above

ferea 1 werm wrmmy wherr s fgen man 2

(a) 1948 (b)y 1947
(c) 1951 (d) 1945

World’s first nuclear test was done in —

(a) 1948 (b) 1947

(c) 1951 (d) 1945

CO, %! argrsa | gfg H1 Hro 2 —

(a) Irernietor (b) FEA

(©) (a)d (b) A (d) 3 @ Hi3 T

Causes of increase of CO2 in environment are —

(a) Industrialization (b) Deforestation

(c) Both(a) & (b) (d) None of above
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(8) Torm A gro wgww & 2
(a) CO
© (@9 (b)H
Which gas causes pollution ?
(a) CO
(c) Both(a) & (b)

(9) T Y i @ fgdas wgve 2 -
(@) SO,

(c) 03

(b)
(d

(b)
(d

(b)
(d)

(3 0f12)

SO,

I H ° HIS T@I

SO,

None of above

CO

NO,

Which of following is a secondary pollutant ?

(@ SO, (b) CO
(c) Oy (d) NO,
(10) T&T SUIHKT HH & 7
(@) g™ (b) 4
(¢) CO, d O
Main source of pollution is —
(a) humans (b) animals
(c) CO, d) O
(11) 3 fisg a1 Fmfor gaffas a2
(a) YaH (b) IeEhfeHTH
(©) FaH (d) T A HE T
Which place has the largest ozone hole ?
(a) India (b) Antarctica
(c) Europe (d) None of above
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(12) 1 T TS 38 & fored gafud @

(a) gt % Sfiae & () THRFTHAEAE
(c) 3T 3cTEA | () I=ITHAEH

Which of following is related with green-house effect ?
(a) Cooling of Earth (b) Increase in temperature of Earth
(¢) Food production (d) High blood pressure

(13) el SGuYI 1 HIH & —

(@) gl (b) 3N F31
¢ FRes= (d) 3wt
Sources of water pollution are —

(a) Smoke (b) Industrial waste
(c) Detergents (d) Ammonia

(14) Toeht 7€) # wergw g¥oI § BOD —

(15)

(a) w9 | (b) I T |
(c) Hrgr@ g | (d) =& |

Due to sewage pollution in river, BOD —

(a) will increase (b) remain same
(c) decrease slightly (d) decrease

eaf SgyoT T T RS —

(a) Tatelt &1 HgHA (b) FTATETA 1 AR
() 3« (d) AR

Natural cause of noise pollution is —
(a) Lightning (b) Noise of traffic
(¢) Wars (d) None of above
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(16) TeT 3ReA fhaeh g giai @ 7

17)

(a) S

(c) a1 ®erd

Soil erosion is due to —
(a) Water

(c) Deforestation

EIA %1 J8q 89 8 —
(a) TAAHHE FR TS
(b) TAERITHE 3R TSl
(c) UHaTETHE 3Hae STaEHe
d) FTHAFETE

Full form of EIA is —

(50f 12)

(b) &1
(d) o Tt

(b) Air
(d) All of above

(a) Environment Impact Agenda

(b) Environment Impact Academy

(¢) Environment Impact Assessment

(d) None of above

(18) STy Yitad= &1 Uias & —

(a) A | g
(c) amHEH Il

Climate change indicates —
(a) Rise in sea level

(b) Melting of glaciers

(c) Increase in temperature

(d) All of above

(b) TATIERI b1 fqEerT
(d) Iowad
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(19) e g fror wd framor sfrfrem uifta fepar mar —

(a) 1978 (b) 1974
(c) 1982 (d) 1971
Water Pollution Control and Prevention Act Was applied in —
(a) 1978 (b) 1974
(c) 1982 (d 1971

20) F=r & & @i g1 IR wTTd S A 8 ?

(a) g (b) &R fafEw

(c) R (d) FHADETE
Which of following is non conventional source of energy ?
(a) Petrol (b) Solar radiation
(¢) Coal (d) None of above

(21) St 1 BT B TG & HeATdl —

(a) <hIgA (b) wHI

© 7 @
Which of following energy source is not a pollution source ?
(a) coal (b) wood

(c) air (d) gas

(22) gzt o Sl 1 HEH WS B —

@ 4 (b) ¥
(c) ¥H3 (d) =feat

Largest source of energy on earth is —
(@ Sun (b) Land

(c) Sea (d) Rivers
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(23) 3P i Srfadiod % S 6w Bt & -

(@ 5 ) 2
(¢) 3 d 1
Number of Oxygen atoms in Ozone are —

(@ 5 (b) 2
(c) 3 d 1

(24) =i % 9ot o fohad pH T 3TA =i et —

(a) S.28%A (b) 103%H

(c) 87 afus @ 10% U
At what pH, the rain is acidic

(a) Lessthan3.2 (b) Lessthan 10
(¢) More than 8 (d) More than 10

(25) 3 o fog B H1 HR0T R -

(a) CO, (b) CH,

(¢) CFC (@) 9 At
The cause of hole in Ozone layer is —

(@ CO, (b) CH,

(¢) CFC (d) All of above

(26) fafero =1 gemma 2 -

(a) U (b) el &1 fir
(c) wEHFR (d) Iates aft
Harmful effect of radiation is/are

(a) Blindness (b) Hair fall

(c) Skin Cancer (d) All of above
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(27) ¥R wgyvr s P 6@ %1 U @ -

(a) JEI

(b) eI 1 TEEE

(c) it <hl el & & gf
d) I aft

Methods to control noise pollution are —

(a) Forestation

(b) Maintenance of machines

(c) Distancing the industries from residential areas

(d) All of above

(28) ST T S HG¥ vl B —

(a) 9 (b) WARTES

(c) Hrmra s (d) I
Main pollutant of water is —

(a) Mercury (b) Fluoride

(c) Lead and Zinc (d) All of above

(29) @rE H@ET § Il 1 JATE Bl & —
(a) THafmE (b) Sfrfia
(c) FHHTER (d) S9UE Teft

The flow of energy in food chain is —
(a) Regular (b) Irregular

(c) Sequence wise (d) Allofabove

1037
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(30) wgTeTeT 7 HEEYY! HEH 2 —

(a) wHI (b) =

(c) & (d 9

Important constituent of Environment is —

(a) Human (b) Land

(¢) Water (d) Air (1x30)

2. Ty = o

Explain the following :

(i) wedis
Urbanisation

(i) s
BOD

(i) SHi"a =
Decibel scale

(iv) wafed e &id
Conventional Energy Sources

(v) aﬁaﬁra»—a%

Deforestation (2x5)

3 mﬁuagw%aﬁa,mamﬁmw%wm‘iwavhﬁﬁm

Explain sources, effects and preventive measures of Noise pollution. (10)

4. () 9TVl A e |
Write the name of sources of air pollution.
(ii) ma@mﬁm%mmaﬂhaﬁ\ﬁq l

Describe the control measures of air pollution. (5x2)
P.T.O.
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5. (M
(i)
6. (i)
(i)
7. M
(i)
8. (i)
(i1)

(10 of 12)
e wgwor & wwrE i wawsy |

What are the effects of radioactive pollution ?

i\ &t TorerT 8§ fiae & SRl 1 AT |

Explain the causes of land degradation.

yTifefaes 7 § e gel %1 aHgs |

Explain communities relationship in an ecosystem.
WL | S & TR T 67 TUrera & qiHe fefag |

Write water quality standards as per BIS.

3refiTes waTs % gerTat gt s ST |
List the adverse effects of industrial effluents.

it wgwvl frifa we, 1974 9 1981 &1 avl Hifi |

Explain Water Pollution Control Act, 1974 and 1981.

arda wifes 93 % yatate yye frafor #1 amegmu |

Explain Environment Impact Assessment (EIA) of thermal power plants.

YAUSH 194 Td A1 991 &1 GHA3T |

Explain global warming and acid rain.

1037
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9. (i) o (I=) g HAffEE, 1972 B A6 |

Explain Forest (Animal) Conservation Act, 1972.

i) uftfeuafa a= = gugmse |

Explain Ecosystem. (5x2)
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